. =
SHSEEIZHIRTEHAER FHh-BE-FEIERELZR
(REf&]
N ERE = S = ¥
w | 3 % H -
ik 7 4 e % 4 Clw [ F] o [ e | ®] o=
) e oy —~
CLE %L —~ LGl —
| o % # i % %
%l | K = % | % - -
Bt T (Frfk BN T) 3 3 1 33.3 2 50 1 33.3
SIURIE (R ARIRLE) 1 1 1 100 1 100 1 100
BT VAN L (Frfk BT L ANT) 2 2 0 0 0 0
IR Rtk T3HHRE) 1 1 1 100 1 100 1 100
1 B (Frfk B 2 2 1 50 2 50 1 50
Ht AR A i ) 3 3 0 0 2 0 0 0
A AT A (Rt ZATAL) 1 1 0 0 0 0
[ xis iNALS (Frtk B FHHNL O 1 1 0 0 0
TR R (Rpfl R bIEd) 3 3 0 2 50 0 0
T IAF VIR etk 7 AT 7 iiE) 1 1 1 100 1 100
=i 18] 17 5 20.4| 11 45.5 5 27.8
(1#R)
w | % e = [ & = ¥
% 3 e i
. » H i =
Wik 78 4 1k % 4 Lo % H %
L e E s
nH —~ aH %‘ —~
| % % = % %
% | % = | % = —
=i 11— —IH THEEE 3 3 33.3 2 1 50 1 33.3
TR *&@W{%W% _ i A ‘ 2 2 50 1 0 0 0 0
AR S L b T TV ARG EE 2 2 100 2 2 100 2 100
AR A B R A S 12 6 33.3] 11 3 27.3 2 16.7
= ARl L= U ARIEVESE 6 4 75 6 1 16.7 1 16.7
2 RUEAEEALSL T JE R REEA ST CTESE 6 6 66.7 6 2 33.3 2 33.3
THI 2 1 TR 2 E R 4 1 100 4 2 50 2 50
SR SRR (R 7 6 100 5 5 100 7 100
5 BRZE R R i L | v iR S G A B e il TAESE 12 11 18.2] 11 2 18.2 1 8.3
ZKEERF D L b e MFIFTR R EE 1 1 0 0 0 0
AEER T KT T HfEE 2 2 0 0 0 0
NhbSAE NbbSAEIEE 1 1 0 0 0 0
Wi AR RS 17 12 of 83.3[ 17 6 35.3 6 35.3
TP T R T HEE 10 8 1 12.5 9 4 44 .4 2 20
SR T S T RVERRIESE 6 1 1 100 6 3 50 3 50
BRI TR 6 5 5 100 4 1 25 3 50
a ) —NEE LT [z 7V —NEXTHEE 3 3 2 66.7 3 2 66.7 2 66.7
S5 K T WAk =L R — Bk THEE¥ 7 1 1 100 7 5 71.4 5 71.4
ST AT 7 M= h—F TIEBGK THE¥E 9 4 3 75 9 8 88.9 8 88.9
BREEAANEANG T [BIEBEEAEA THIEE 8 7 5 71.4 8 3 37.5 2 25
=T U+ — i L |SEEI—T U+ — VL TEEHE 1 1 1 100 1 100
EENg e HENT b TAE¥E 4 4 3 75 4 3 75 3 75
HT A T HTATHAEE 1 1 0 0 0 0
B - 7" L Ml R CADYESE 8 5 100 8 4 50 4 50
&M R Fl B e 3 3 100 3 3 100 3 100
— TREIRIEEE 1 1 100
kG IR 23] 13 61.5] 18 7] 38.9 9] 39.1
&t 108 64.8] 149| 67 45 70 42.4




(27%]

Z R EHk FR] 2
w| Z[ A & =z | & & %
e ¥ 1 el
" i " " =
Tk 78 4 1k % 4 Lo % i B
ol " ~ LI ~ |Eg| °
| o % % % %
% | % | % = % | % o | EEl <
=<Ft 00— ) — ST THFHIEE 3 2 1 50 2 1 50 1 33.3
T4 AR 6 5 4 80 4 4 100 5]  83.3
BAEFIE AL > ST TV AR EEE 1 1 0 0 1 1 100 0 0
Bt R A B R A ESE 20| 11 ol s1.8] 191 10] 52.6] 10 50
= AR — U ARIEVESE 12 8 8 100[ 12 2 16.7 2 16.7
2 S HEEANL T 2SR EA N TR 11 10 7 70l 10 7 70 8 72.7
THE 2 TR 2 E R 3 3 2| 66.7 3 0 0 0 0
2 ZER AR I R 8 7 7 100 8 8 100 3 100
TR ZE R R e i T [ B Ze S g ok ae e 1T AE3E 14 13 6| 46.2[ 14 7 50 4 28.6
Jir N IR i N BERE IR U ESE 5 5 4 80 5 4 80 4 80
gk TR R EIESE 1 1 0 0 0 0
JKPERRY i B i MEIF TR RS EE 5 3 3 100 5 5 100 3 60
SR T KT e 18] 15| 14 93.3] 18] 11| 611 11|  61.1
NHbHSAE NbbSEIEE 2 2 1 50 2 2 100 1 50
B AR R 16| 14 8 57.1] 16 3 18.8 3 18.8
A it T TP TSR 2 2 2 100 2 1 50 1 50
i T BEGRST TR 3 3 2| 66.7 3 3 100 2| 66.7
oL )—NEEM T [z 2V —NEXTHEEE 2 2 1 50 1 1 100 1 50
HT A T HIATENEE 3 2 2 100 3 1 33.3 1 33.3
B - 7" L i X CADESE 23] 16] 13 81.3] 23 8 34.8 8 34.8
AU Bic FEA - il Y X EE 1 1 1 100 1 1 100 1 100
&R R R FEAR BRI ESE 4 4 3 75 4 4 100 3 75
LS G IEEE 6 4 1 25 6 3 50 3 50
&t 169] 133] 99 74.4] 163] 87 53.4] 80[ 47.3
(3%%)
= e e Rl
w| %@ e = [ & = ¥
w | 3 1 LI E3
W L 4 % 4 AT R
nH =4 . —~
L ~ I ~ | ER®
| % % | # % %
% | % | % = | % C |zl <
KRN T A ESE 70| 63| 56| 88.9] 69 53 76.8] 52 74.3
AR AL S 258 247[ 162 65.6] 255 169 66.3] 135 52.3
L=l AR L= U ARIEIVESE 28] 24| 19 79.2] 28] 22 78.6] 21 75
R ZE KR A g i T | /5 RS SR A ae i TAESE 1 1 1 100 1 1 100 1 100
FHBUE FHEINTAEE 19] 19 16] 84.2] 19 9] 474 9] 474
AERT KT T H{EE 1 1 1 100 1 1 100 1 100
Wi SRS RS 11 9 8 88.9 9 6 66.7 8 72.7
Bt - 7" L M X CADESE 9 9 8 88.9 9 5 55.6 5 55.6
i 397 373 271 72.7] 391| 266 68| 232 58.4
(E—#%)
= £FY FEH E8®| &
w| Z[ 7 & =z | & = %
w | B i 1 LI E3
Wi A 44 1R % 4 B R B I T B
ol " ~ LI ~ |E®| °
G % % % %
% | & = % | % _ |mE|l <
71 [l e 1R BV E3E 4 2 1 50 4 4 100 3 75
&t 4 2 1 50 4 4 100 3 75




